


~-1ltl-~! J

%H

Gia ol

i
il

INTRODUCTION

ur company «ARCO» was founded
Oin 1991 and is currently one of the
leading supplier in elevator & escalator
spare parts at Saudi Arabia. All our products
presents innovating technical features and
good quality / price relationship. Most of our
products are exported to several countries
worldwide. We have branch offices and
distributors in Jordan, Egypt & Lebanon.

We are sole agent for many European
companies, enabling us to supply

different makes of lifts and escalators,
including hydraulic & food lift. We have
wide range of controllers, electrical as
well as electronic, which can be delivered
fastt We can supply many decorative
and attractive stainless steel ceilings for
elevator cabins, fabricated according to
the customer specification. We also stock
many kinds of attractive steel lamination
for the elevator doors. We have very strong
elevator machines with gear box from 8 hp
to maximum.

-
-
-
-
-
-
=
=
-
-
-
-
-




ARCO FACTORY

ARCO FACTORY




= ¢ ¢ ==

ARCO FACTORY ARCO OFFICE

LRI rres
» - |




/ TRACTION /



TRAGTION MAGHINE

TRAGTION MAGHINE

COMPONENTS TRACTION MACHINE




T

TRAGTION MAEHINE é

RACTION MACHINE

gé TRAGTION MAGHINE
dre ) A—— E—

RACTION MACHINE




T

" TRACTION MACHINE MABHINE @

RACTION MACHINE

T

‘ TRACTION MACHINE

RACTION MACHINE




TRAGTION MAGHINE

T

RACTION MACHINE

T

TRAGTION MAGHINE

RACTION MACHINE




ACCESSO IES
M)



CABIN

A B
B Y 0 0
N ey e €
— Y 20 P C
3 '
3 Y s f
) Y ) 3 ( {
o
e B ) LS ]
— Y ’)
— A ) )
Yy
v=_ . . -
] ) )
) ) )

. e & & & & & & & © o o o o o o VNSNS

T % = % ® ® ® ® © © © © © e & ©
y-...-........-'ﬁf“““‘\“*""-.-'
# & © © © O & © © © ® © © ® © © °

.u’]

Model No. 3

Model No. 2




CABIN

GABIN

[ ]
s .

b
(4
AT TS

SN\ L
NN

B —

‘_ ]
B L

; AR T

avaaw e

< i |

- — il
FEPRE. e

T
o -

3 £ A

W
W

]
P




CABIN

PANORAMIC CAR

£

PANORAMIC CAR

CABIN




i

__.._.-_....——




HSET-JOZ9

Hairlime fizished 50750 frame
Acryhic lighting cover, Yaulled ceilieg beard| Sky and cloud)

HSET-JO30

Baled Enemel Finished S1ctl frame
Acrylic Lighteag caver

I
_.
‘.

LR R L

\

\

[/
l/nmmnum\

i

= . - i

I

HSET-JO31

Mirror finished 505t frame
Acryiic lighimg cover, Tube Lamp

HSETO4-032

Wood af Teliera
Nery i Lightss g eoner, Tubs Lara

HSET-JO33

Warrline finkthed 515t frame , Acry i lighting cover

HSET-JO=4

Mhirrar finished 8151 frume
Acrylic lighting caver, Teise Lamp

HSET-J0O35

Mirrar finished $1:50 frame
Vauhed Acrylic lightizg cover, Tube Leng

HSET-J036

Mirror finksded SE51 fame
Acrylic lighting cover




CABIN

. [ RS LT A )]
el b AR Y
SEChceisiatatalilitelils LN :
:Ei‘E:.'!:i-:';': I i .' . '.‘
Ehchesratatitaets f I
= - W= P B et e q
’ BUBBLBLHLBLase 00 {‘ Hﬁ\
T3l ENRNRS y
3G RHRRRE
LITHA
Behpenphiban-
: G
- it £ -i-.-l_» BEh:n-h-a
R PR R RS SR s al s
WL/ST-001 - CC-001 (907) C€C-002 (H.Circular) CC—GI.'I! (45°)
R # ’f'.hl ~ h ey - R T —
. vy, ; i . i e
- T & = - -
i s o —— — A
| 1 * % . L . — -
| ;v Y ) [— e, —
| & . ' - - - . =
L ER ™ T — T —
| ) - = T -
o e - — - — o
| B 4 T - ~— —— . ™
| : | I 7 g g . Tm—— T
| ] 4 - T =,
,,,,, L nl* g - - — ﬂ-..

i T o —
WL{ST{IDS WL!ST—ﬂﬂE WL,I’ 5T- DD? L/ST-008

WL/PL-001 WL/PL-002 WL/PL-003 WL/PL-004

FLOOR Flnlshlng

FL/GR-001 FL/GR-003

FL/PV-001 FL/PV-002
\§

FL/AL-001




CABIN Ai' N
e Vi

e —
"'V
N

DECORATIVE STAINLESS STEEL- SILVER

5T/SM-000 ST/SE-020 ST/SE-041

4d A1 A AL AL ' a
M3emrIr =4 Srr3g/Ara2r2 48

£ A [
A
AT Y MY Y T4 19 Y

ST/SE-082

\V’
.;--4\‘

:e"rr

ST/SE- {]5? ST/SE-210

""; GABIN
/) Vam—
— | —
)"
N

DECORATIVE STAINLESS STEEL- GOLD

ST/GE-020

} %@

ST/GM-000

&% 6T
.7 & lf«o-ﬂ
\\"r’ ﬁ. é {

.d&‘v S
\\I

4 41 B (1 8 AL
MrSesrarsasrra ng'al"gﬂ'ﬂf'l"

[ Y
A
AT Vi 0 B Y A t

aT/GE-082




® @ @ =—®
@20 20 2@
@20 26
@20 20>
2020 2@
@202
202020
90 2% 2%

7
@

o0

@
@

D\!I
O
Do
L%
L
&

®
®
®
®

®

@

|,'
' |
i

]
|
;

-
1
IIl

Il" :ji

w

N
T

t‘ *, ‘F
:%»
324
i

s

g Y,

__ﬂ_
2

2 IR P RO

; ‘ .
l", (4
7 /o d

”
- [}
X ",-"", %
- “1 . ‘ ."
- 4 o L N

Nt
£y 5

el b F’;’.“&l',)

. - L
) n
L) 4
-
L)
]
f L
ol »
-
-
‘
- oy
¥ -
vty
e
-
[N 2,
f . -
¢
k) 1 .
. ¥
. - ?
[ iy,
Ty 99 .
: [;
p ?
P> 2T
fe .
w .
i, ]
-

7 SAZ &
XX SN ¢
(s )
R
% X% X
oo
XX XX ¢

Nu g |




- ..lll

AUT(]MATIC DOﬂRS
" '

: — " Sl -'I~l||]]|| I||| ‘ E

11_-_";_ H " !"l | ﬁ‘JI'
3 I , ey L
1 ﬂ - : A

ill

; - a i __w/;
_ SWING, FOLDING




AUTOMATIC DOORS

AUTOMATIC DOORS

Y —
! ._._'___...--""' ol




AUTOMATIC DOORS

4 |

i
0 A0 e x
ot f T WML

d|p =

NN




i

SWING DOORS FOLDING DOORS

T T L
o
e T T e T e S e R




DOORS :!

FINISHING DOORS

all

|
——
1 F
'.':"--- - - = -
1 T —
e e
——— = &
| = |
il [ 1
| j
| !
| I
o i_- i#
i I
|
|
. et |
3 il [~
v I
| . !
|
]
-
1
| -
]

\

'r._
i W




Wf t..._ = :
= .

T || n\
il
..“ f . i

FE e .
2 .

ESCALATOR



ESCALATOR

ESCALATOR

SCALATOR

[ epre—— e = g, MR e
- .-
- r' WSS —— LT

:"2“ \"‘ | 13 i

LU T




HOME LIFT 4

“ )))))J
"~ ARCO}









= lh,

ELEVATOR




cm 7 —

ELEVATOR ELEVATOR
COMPONENTS COMPONENTS




GUIDE RAI

oo |




GUIDE RAIL GUIDE RAIL




GUIDE RAIL

] | | ]
T-Clips Sliding Clamps
Hot forged rigid guide rail clamping system. Recommended for application where guide rail stack movement is not expected. Hot forged sliding guide rail clamping system. Enginaered to provide a point bearing contact wsed in confunction with the Feather Edge mdius guide rail seat.
These clips come complete with threaded shank amd st T-Clips are available both in burnished and zinc-contad finishing This clamp system provides the strength of a forged clip with the flevibiity of the sliding clip.,
Monteferro  Applicable a A B C D E F G H S .
Code Guide Rail Size mm mm mm mm mm mm mm mm mm mm glggéeferm gppcll:tki " A B c D E F G H T L W 2 Bolt
Tolerances a3 +1,3 150 # # 5 #1 A3 & ui il Size mm mm mm mm mm mm mm mm mm mm mm mm size
—_— - Tolerances H El 5 #1 5 #7535 5 5 45 #7545
RT45 55 SL-F 10 RT50 - RF50 44 40 29 33 14 20 8 18 7 129 95 17 M12x45
e RTS0 - RF50 e = = = = s : e i 60 SLF 20 RT70 -RF70-RF70.9 44 40 29 33 14 20 8 187 151 17 17 M12xd5
RF65 75
RT70 - RF70 - RF70.9 a SL-F 30 RF75 - RP75 - RP78 44 40 29 33 14 20 8 18 7 156 122 17 M12x45
T2 RF75 - RP75 M12 39 26 16 15 7.3 6,5 13 27 88 SL-F 40 RFES - RPBY - RF90 - RPY0 44 40 29 33 14 20 8 18 7 172 138 17 M12x45
;’fﬁ - RP82 g: SL-F 50 RPIZS - RP1ZT-/2- RPIT2c14 55 45 35 38 18 25 9 18 10 27 183 2 M16:50
RP78 94 SL-F 60 RP140-1 55 45 35 38 18 25 G 18 10 242 168 21 M16x50
T3 Mi4 45 29 16 18,5 9.5 & 13 34
RFE9 - RP29 d ! 105 SL-F 70 RP140-2 55 45 35 38 18 25 9 18 10 250 206 2 M16x50
RF%0 - RP9O 106
RP114 131
T4 RP125 M6 50 34 16 20,5 10,5 85 15 40 142 Feather Edge
RP127-1/2 - RP127-2 c14 144 ¥
T5 RP140-1 - RP140-2 M18 55 37 18 23 13 1 17 42 162 1

(=

1

o X
, S ____A(i};__} 45«1 R=60
X
!iﬁ

-m-! W

X1-X2=21
K1-K2=11
_r.{ "'\-._1 1
E . )] !
= i
Forged Clips
Sliding Clips Hot forged rigid guide mil clamping systent. Recommended for application where guide mil stadk movement is not expected.
Pressed steel sliding guide rail clamping system. Recommiended for application where quide rail stack movemernt i required due to thermal
expansion or building settlement. Monteferro  Applicable A B C D E F G M ] S Bolt
Code Guide Rail Size mm mm mm mm mm mm mm mm mm mm size
Monteferro Applicable ] A B C D E F G S Bolt Tolerances #1,5 #5 5 #15 1,5 # 15 #,5 4 2
Code Guide Rail Size mm  mm  mm MM @M MM MM mmmm size Fi0 RFE9 - RPB9 - RF90 - RPSD 41 » 19 4 10 18 8 2,5 145 115 mi2
Tolerances 5 3 5 ] 1 5 K] ] 2 RP114 150
RF89 - RPBY 128 F20 il 55,5 30 25,5 51 16 25,5 12,5 17,5 17,5 1 M16
RP127-1/2 - RP127-2 <14 " g . ) ' : 164
SL- P10 :m-i e 15 76 70 E3| 5 9 14,5 18,5 13 M12x35 it iEE)
RP175 ! ! 162 F 30 RP140-2 70 38 32 65 16 25,5 12,5 24 20,5 188 M1B
RP127-1 166 F 40 RP140-3 70 38 32 76 19 28,5 19 24 20,5 188 M1B
RP127-2 [ RP127-2 c14 166
SL- P20 RP140-1 17,5 76 70 33 5 14,5 20,5 19 178 M16x50




2 A,

4 PUSH BUTTONS /




PUSH BUTTONS

PUSH BUTTONS

o — [

PUSH BUTTONS
i f gl EH

‘_iﬁt =y

- |
T___J

- [
e
() (=)

BX160 BX180 BX200 BX2711 BXx213 BXx2715 BX217
- | 1 oy
= [ I
-
_ 2 -
2 e
] P S |
- L
' n ] - 3
v} =
Bx405 BXK107 BXK131 BXK132 BXK153 BXx41{1 BX190
@ O
{ 9 @

BX230 . BX230



PUSH BUTTONS

PUSH BUTTONS

Display Module

Ll

s 5

"

L1

i

R

mng

DoV, 24y DCI2V DC12Y, 24
ACIZV. 24y DMV AC12V, 24V

Optional Push Button

Inspection Box

DAy
DC24v

Feature

stairbess chicklot,
B The thickness of installation
plaba: 2~3 mm;

B Using special fitings, easy for
insialation and maintenancs

Optional illumination color & character

1| Me]=) - [=]=

Optional chicklet

(=) =][=]

Effect & Fixing

PUSH BUTTONS

PUSH BUTTONS

B Twin-arced symmetrical surfaca,
chrome-faced  outer  frame,

BCT180

BC401

= =
o v
& £ 3
Pt ]
@@ (7
® (9 7 [
e |
ol |15
@ a
o
oBo 1]
OBe)
.3 =
A ke .'J
i
. ]

BC200 BC4G5 BC217

CAPACITY  13FRS,
LOADING 1000 K

|
8




PUSH BUTTONS

Display Module
NEEEES 0
EEEEEEN
afsanmEn
IEEEET U
L T |
IMEEEEE
TrEEET
DOV, 24 Do
ACTA, 24V D2
ﬁ
DT, 24V D12y
ACT2V, 24y DCaaw

Optional Push Button

PUSH BUTTONS

BX3Z2

STtk Display Module

DC12v, 24V DCi2v
A2V, 24V D24y

WS Optional Push Button

SO -

BATG0 R BAlS0R N BAZDOF 5
® @
"2 -
BAZ10% ¥ BAZIDFEE KAIDOH A

A& 8-S Optional Push Button

BATED ] BA1BOF 5 BAZOOE S
BAZIORF BAZI0R 5! KAS00 % 3




INTRODUGTION

PUSH BUTTONS

9_

PUSH BUTTONS

BMG 121
NN
BMG131 BMG132 BMG141

i _ g _

BM181 BM231

g 8 B
<) \ ©

BZGT11 BFGT3T BXG16T BXG163 BXG162

BA160 Seres BA180 Sares BA200 Serfes BAZ10 Serles
= . i@
(O, | 2 O
i, = = _\ ;

B " = &
s (B3 w
— L
BAZ220 Senes BA240 Seres BA400 Senes BAL1D Sanies

BA430 Serias BA470 Senes BASB0 Senes

INTRODUGTION




A | N\

DOOR LOCK /




O L0t LS 0006 L0t _

.-@’

DOOR LOCK L) . DOOR LOCK
s

DOOR LOCK, CLOS DOOR LOCK, CLOS

[ 1]
2

q




o

SAFETY




SAFETY COMPONENT




__ adh,
/ ELEVATOR /

a1
. Lol T |




CONTROLER g @ CONTROLER

—LEVATOR

CONTROL UNITS

MICRO

PROCESSOR CONTROLER

BRI b G

il - pEmy - gy D

= ] - X

T 1 £ 5. 0% 0
.L :JI_. ]:_- ﬁ-..-- .- —_— i.




ET W
VVVF CONTROL UNIT RELAY UNITS




